LOCK [EY  cseres(c120, c-150, c-170)

R LIS.A INSTALLATION INSTRUCTIONS

No. Part Name C-120|C-150 | C-170
1 Outside Body 1 1 1

2 Inside Body 1 1 1

3 Rubber Trim Plate 2 2 2

4 | Mortised Striker (not shown) 1 1 0
5 Surface Strike Plate 1 1 0
6 Spindle 3 3 1

7 |Machine Screws M4 x 30,35 & 40mm | 1|1|1 | 1|11 | 1|1]1
8 Machine Screw M5 x 20mm 2 2 2

9 Wood Screw M4 x 16mm 2 2 0
10 Extra Code Tumblers (Red) 1 1 1
11 | Extra Non-Code Tumblers (Blue)| 2 2 2
121 Thin Door Kit (TDK) (not shown) 1 1 1
13 Spacers (not shown) 3 3 3
14 Tweezers 1 1 1
15 Hex Bolts 2 2 2

Step 1: Change User Code/Combination (OPTIONAL)
To change user code/combination, see instructions on reverse side.

Step 2: Prep Door for Installation with Template

Place template (supplied) on door and fold along door’s edge.

Depending on door configuration, you may need to change handing and/or reverse the bar (C-120) from long to short. See Steps 3 & 4.
Drill holes as instructed and mark location for Strike.

Step 3: Identify Door Handing
Right-Hand Doors — From exterior of door, hinges are on right-side (Fig. 1). RIGETQ-H1AND LE:TigH,iND
Left-Hand Doors — From exterior of door, hinges are on left-side (Fig. 2).

( I |
The C-120, C-150 and C-170 are factory pre-handed for right-hand doors. \%
@

(D
—- N

( I |
To change handing, remove the two blue screws and cover plate from Outside Body (#1) as shown. G
Next, move the pin from the right side of the Outside Body (#1) to the hole on the left side.

Replace plate and screws.

Step 4: Adjust Deadbolt Length (C-120 ONLY, if necessary)

Depending on door configuration, you may need to reverse the bar from long to short.
Remove silver screws and plate from the Inside Body (#2).

Reverse the bar.

Replace plate and secure with silver screws.

Step 5: Verify Correct Spindle Length
Hold the Inside Body (#2) and Rubber Trim Plate (#3) to the door.
Place Spindle (#6) through door into the Inside Body (#2), as far as possible.

Spindle (#6) should extend from exterior of door 3/8” minimum to 5/8” maximum.
If Spindle (#6) is too long, cut it to the correct length using pliers.

IMPORTANT: If Spindle (#6) extends less than 3/8”, it may not engage the lock.

If Spindle (#6) extends more than 5/8”, it will cause the lock to bind.

—=3/8"t05/8"
Y

Continued on Reverse Side Updated 6.1.16




L oc K E Y C-SERIES INSTRUCTIONS
CONTINUED...

[T USA

Step 6: Installation

Place the Rubber Trim Plate (#3) on the backside of the Outside Body (#1).

Place the Outside Body (#1) on the door. The Hex Bolts (#15) should extend into the top and bottom holes.
Insert the Spindle (#6) through the door into the spindle hole on the Outside Body (#1).

Place the Rubber Trim Plate (#3) on the backside of the Inside Body (#2).

Place the Inside Body (#2) to the door ensuring that the Spindle (#6) is inserted into the spindle hole.

If the Inside Body is not flush with the Surface Strike (#5) location, use Spacers (#13) to make Inside Body flush with Strike location.
NOTE: If Spacers do not make Inside Body flush with Strike location, you may need to trim the door jamb or mortise the strike.

Insert screws into the top and bottom holes of the Inside Body and secure with a screwdriver.
Test the lock to ensure the Deadbolt/Hookbolt is retracting correctly when turning the inside/outside knob.
Install Strike Plate (#5) (C-120 & C-150 only) in proper position and secure with Wood Screws (#9).

Step 7: For Doors Under 1” Thick (if necessary)
For doors under 1” thick, you will need to cut the Spindle (#6) to the appropriate size. See Step 5 to verify correct spindle length.
Remove Hex Bolts (#15) and use M5 Screws supplied in Thin Door Kit packet to secure lock to door.

Step 8: Using the C-Series Lock

From Outside:

The door will LOCK by turning the thumbturn to extend the deadbolt/hookbolt.

To UNLOCK, turn the thumbturn to clear the lock, enter the combination and turn the thumbturn to retract the deadbolt/hookbolt.
NOTE: If the deadbolt/hookbolt retracts without combination and requires a combination to lock (extend), you may need to change
handing. See Step 3.

From Inside:
The door will LOCK and UNLOCK by turning the thumbturn to extend or retract the deadbolt/hookbolt.
KA E- — — — — — — — — — — — — — — — — — — — — — -
How to Change User Code/Combination
1. Using a #2 screwdriver, remove the two (2) Red Screws. 4. With the thumb-turn held 90° to right or left, remove/add
2. Carefully remove cover plate. CODE (Red) and NONCODE (Blue) tumblers to create the desired code.
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code
WARNING: Springs are attached to plate. 5. After changing your code, release the thumb-turn to secure the

tumblers in place.

L,
p-
1
Of
.02

3. TURN & HOLD thumb-turn to right or left 90° to release tumblers. |6. Replace the cover plate and secure with two (2) Red Screws,
IMPORTANT: THUMB-TURN MUST be turned 90°and held when using a #2 screwdriver.

removing and inserting tumblers. Failure to do so will damage the 7. TEST CODE before installing/re-installing lock.

lock and void the warranty.

1® 85

e
e 6
19 64

Tarn & Hold

WARNING:
Do NOT force tumblers into position!
TURNING THUMBTURN 90°= CLEAR POSITION.

T O o ————
T
Important: E\mynva
Hold knob in W K
clear position,
right or left, while
changing code

For more helpful tips and installation instructions, visit www.LOCKEYUSA.com pdated 6.1.16




" TEMPLATE

c120 | "

o o
& =
) b
& =
e Tl
S o
16.mm o] &
_e|v = P
. It L
Sz =
lllllllll 5t m [ (o]
e B g
MIE g : 5
3 [ o ] £
i bl o3 e bnsl
“r' — bl
...... “
H
ol = : - v i = e
Ef = m E| =
"-Uj- u-ml!al« : ree = ey e y.:..ry\ -1 ] ST . " — .|MH¢U.’| .l.mn
_ ;
" B £ o
y & ) < 4
o -
m NI _ m
[ 4
xm L
........ A u\ i
F T 1 ! = " A AN, T B
;;;;;;;;; 1 = i mw
S \\ @.a_&, o i
2, 5m | </ S
N R
.. 18, om__ 12, 5mm

FOR RIGHT HINGED DOOR FOR LEFT HINGED DOGR
60, mm 9. nm




TEMPLATE

G150

FOR RIGHT
HINGED DOOR

18.mm

FOR LEFT
HINGED DOOR

= =
& S
b =
m | L
F 30, nm b
1Lt LLE
m LI
i I
51| g1 |18
i
ot e =N
= =
il . L0
4 15.mn 20, mm
Ty
_ Ill-ﬂnﬂ \l.Wl\....Vulﬁ/...ﬂ.l/
.............. ! ; ﬁu
e i ]
e r,./\.\
~n = A
Voo = Bl g
RO 2 -7 5
Johme— - . -y =]
D ¢
E|lE 2 E
R s N - P
i um eyl P
= P ¢ =
&l | e &
ol o
¥ )
{ a@@y :
M . -
—— .\ :
SR R I W = 14
& g .
3 o~ fll..ft... ..:.:....\L
3.1 3 33
19. mm 13,



 TEMPLATE

- ¢170 —

30, mm

128. mm
113

30. mm

21. mm




